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5. Level–2 [ For Classes VI to VIII ] 

PART–I : Child Development and 

                                      Pedagogy  [Qn. 1 to Qn. 30] 

PART–II  : Language : [Qn. 31 to Qn. 60] 

  (Hindi : 15 Qn. & English : 15 Qn.)  

PART–III : General Studies : [Qn. 61 to Qn. 90] 

  (Quantitative Aptitude : 10 Qn, Reasoning 

Ability : 10 Qn, G. K. & Awareness  : 10 Qn.) 

PART–IV : Arts [Qn. 91 to Qn. 150] 

iz'u&iqfLrdk Øekad ,oa vks-,e-vkj- Øekad 
Question-Booklet Serial No. & O. M. R. Serial No. 
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H kk xH kk xH kk xH kk x – I / PART – I 

c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L= / CHILD DEVELOPMENT AND PEDAGOGY 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %  f uEufy f[ kr iz'uk s a d s m Ù kj ns us d s f y, l c ls m fprl c ls m fprl c ls m fprl c ls m fpr     f od Yi pq f u,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

1. fu Eu fyf [k r e s a l s d kS u &l k fu ;e 
v ku q oa f 'kd r k ls la c a f/k r ughaughaughaugha   gS \ 
1) l eku rk  d k fu ;e 
2) f H kUu rk  d k  fu; e 
3) iz fr xe u d k  f u; e 
4) iz xfr d k  f u; e 

  
1. Which of the following laws is not 

related to heredity ? 

1) Law of Similarity 

2) Law of Variation 

3) Law of Regression 

4) Law of Progression 

2. fu Eu fyf [k r e sa ls d k S u&lk  cq f)  d k , d 
fØ ;k Red  ijh{k. k  u ghau ghau ghau gha   gS \ 
1) d k s g~ d k  C ykW d  fMtk bu ijh {k . k 
2) , ys Dts a M j d k  ikl &, yk ¡ x i jh {k. k 
3) l s xq bu Q k W eZ cks MZ ijh {k. k 
4) LV s uQ ks MZ&f cu s ijh{k. k  

  
2. Which of the following is not a 

performance test of intelligence ? 

1) Koh's Block Design Test 

2) Alexander's Pass Along Test 

3) Saguine Form Board Test 

4) Stanford-Binet Test 

3. fu Eu fyf [k r esa l s d kS u&lk  oLr q fu "B  iz d kj 
d k  iz'u u gh au gh au gh au gh a  gS \ 
1) f eyk u iz'u 
2) f o'ys " k. kk Red  iz'u 
3) c gq o S d f Yid  iz'u 
4) f jDr LF k ku  iz'u  

  3. Which of the following is not an 

objective type question ? 

1) Matching questions 

2) Analytical questions 

3) Multiple choice questions 

4) Blank space questions 

4. fi; kts d s uS f rd  fod k l fl) k a r d s v uq lk j] 
fd 'kks jko LF kk  gS % 
1) u S fr d  ;F kkF kZ o kn d h v oLF k k 
2) c kf /kd  uS f rd rk d h  v o LF kk 
3) ijk; Ù k uS fr d r k d h v o LF kk 
4) Lo k; Ù k uS f rd r k d h  v o LF kk 

  4. According to Moral Development 

theory of Piaget, adolescent period 

is : 

1) Stage of moral realism 

2) Stage of morality constraint 

3) Stage of heteronomous morality 

4) Stage of autonomous morality 

5. fu Eu fyf [k r esa l s d kS u &lh fo'ks "kr k fi;k ts 
}k jk iz fr ikfnr la Kk uk Red fo d k l f l) kUr 
d h  e w rZ la fØ ;kR ed  v o LF kk ls la ca f /kr u ghau ghau ghau gha 
gS \ 
1) m RØ e . kh; rk  ¼ iy Vk o d h {ker k½ 
2) Ø e c) r k 
3) t ho ok n 
4) l a j{k . k 

  
5. Which of the following 

characteristics is not related to the 

concrete operational stage of the 

Cognitive Development theory 

propounded by Piaget ? 

1) Reversibility 

2) Serialization 

3) Animism 

4) Conservation 
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6. o S ;f Dr d  f Hk Uu rkv ks a d s lUnH k Z esa d kS u&l k 
d F k u lgh u ghau ghau ghau gha   gS \ 
1) d k s bZ H kh nks O;f Dr f cy dq y ,d &l eku  

u gh a gk s rsA 
2) o S ;f Dr d  fH kUur k, ¡ f o'ks " kr kv ks a d s la ca/k 

e s a f op yu gS aA 
3) o S ;f Dr d  f Hk Uur k, ¡ v iu h l exz rk  e s a 

O ;fDr ;k s a d k s vy x d jr h gS aA 
4) o S ;f Dr d  f H kUu rk ,¡ d s oy  v ku q oa f'k d rk 

d k  gh  ifj. kk e gks rh  gS aA 

  
6. Which statement is not correct in 

context of individual differences ? 

1) Two persons are not exactly 

same. 

2) Individual differences are 

deviation in regards to 

characteristics. 

3) Individual differences 

distinguish individuals in their 

totality. 

4) Individual differences are the 

sole result of heredity. 

7. tc , d  c Pps } kjk lh[ kk tk us o ky k ikB 
ya c k vk S j d fBu gk s rF k k mle s a le > d h 
t:jr H k h v f /kd  gk s] r ks lh[ ku s d h 
d k S u&lh  f of /k mi; q Dr gk sxh  \ 
1) f ojke  fo f/k 
2) iw . kZ fo f/k 
3) v f ojke  fo f/k 
4) iz kl a fxd  f of /k 

  
7. When the lesson to be learned by 

a child is long and difficult and 

requires a lot of understanding, 

then which method of learning will 

be appropriate ? 

1) Spaced method 

2) Whole method 

3) Massed method 

4) Incidental method 

8. v f/ kxe  fu; ks ZX ; cPp ksa d s f y, d kS u&l k 
f'k {k. k lw =  y kH k iz n u ghau ghau ghau gha   gks xk \ 
 
1) l jy  l s t fV y 
2) v e w rZ ls ew r Z 
3) iz R;{k ls v iz R ;{k  
4) K kr l s v K kr 

  
8. Which teaching maxim is not 

beneficial for the learning 

disabled children ? 

1) Simple to complex 

2) Abstract to concrete 

3) Direct to indirect 

4) Known to unknown 

9. fu Eu fyf [k r es a l s d k Su&lk  fo d kl  d k  , d  
fl ) ka r u gh au gh au gh au gh a   gS \ 
1) f od k l v k uq o a f'kd rk ,o a i;k Z oj. k d k  

m Rikn gSA  
2) f od k lk Red  iS Vu Z iw o kZu q es ; gks r k gSA 
3) f od k l jS f [k d  iF k d k vuql j. k  d jrk  

gSA 
4) f od k l lk ek U; ls fo f'k " V d h v ks j 

c <+ r k gSA 

  
9. Which of the following is not a 

principle of development ? 

1) Development is the product of 

heredity and environment. 

2) Developmental pattern is 

predictable. 

3) Development follows linear 

path. 

4) Development proceeds from 

general to specific. 
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10. fdl euksoSKkfud ds vuqlkj cPpksa ds 
laKkukRed fodkl esa lkekftd ,oa lka LÑfrd 
dkjdksa dh Hkwfedk egÙoiw.kZ gks rh gS \ 
1) o kW ; xk s V~Ld h  
2) f i; kts 
3) c z w uj  
4) gy 

  10. According to which psychologist, 

the role of social and cultural factors 

are important in the cognitive 

development of children ? 

1) Vygotsky  

2) Piaget 

3) Bruner  

4) Hull 

11. fu Eu fyf [k r e sa ls d kS u &lh f d 'kk s jk oLF k k es a 
lk ek ftd  fod kl  dh ,d lke kU; fo'ks " krk 

u gh au gh au gh au gh a  gS \ 
1) e kr k&firk  d s lk F k lk ea t L; iw . kZ   

l a ca/k  
2) u ;k  l ke kft d  l ew gu 
3) igpku  d h [k ks t 
4) o hj&iw t k  

  11. Which of the following is not a 

common characteristic of social 

development in adolescence ? 

1) Harmonious relationship with 

parents 

2) New social grouping 

3) Search for identity 

4) Hero-worship 

12. d k s g~y cxZ d s uS f rd  fo dk l f l) ka r d h 
d k S u&lh  v o LF kk ,¡ ik jEif jd  u S frd r k ds 
Lr j ls la c a f/k r u ghau ghau ghau gha   gS a \ 
(a) O ;fDr ok n , oa fo fu e; 
(b) v PN s vUr o SZ ; fDr d  l a ca/k 
(c) l kek ftd  O ;o LF kk  c uk , j[k uk  
(d) l kek ftd  v uq c a/k v kS j o S ;fDr d  

v f /kd k j 
l ghl ghl ghl gh  dw V d k p; u d hf t, %  
d w V % d w V % d w V % d w V %     
1) (a) ,o a (b)  

2) (b) , o a (c) 
3) (a) ,o a (d)  

4) (c) ,o a (d) 

  12. Which stages of Kohlberg's moral 

development theory are not related 

to level of conventional morality ? 

(a) Individualism and exchange 
(b) Good interpersonal relations 
(c) Maintaining the social order 

(d) Social contracts and individual 

rights 
Choose the correct code : 

Code :  

1) (a) & (b)  

2) (b) & (c) 
3) (a) & (d)  

4) (c) & (d) 

13. v o/kk u , o a f pa ru  t S lh ek ufl d  iz fØ ;k v ksa 
d s }k jk lh[ ku k d gykr k gS %  
 
1) v u q d j.k kRed  lh [k uk 
2) xke d  lh[ ku k 
3) l a Kku kR ed  lh [k uk 
4) H k ko kRe d  lh[ ku k 

  13. Learning through mental 

processes like attention and 

reflection is called : 

1) Imitative learning 

2) Motor learning 

3) Cognitive learning 

4) Affective learning 
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14. lk ek ftd  v f /kxe d s lUnH kZ e s a d kSu&l h 
f'k {k. k&v f/ kxe j. ku hfr fo | k fF kZ ; ks a d s fy, 
lo kZ f /kd  m i; ks xh gS \ 
1) {k s = H kz e .k 
2) H k k"k .k  
3) iz ;k s x 
4) e ku fld  m }syu 

  
14. Which teaching learning strategy is 

most useful for students in context 

of social learning ? 

1) Field trip 

2) Lecture 

3) Experiment 

4) Brain storming 

15. iS oy kW o d s v uq c a/ku  fl ) kar e s a Lo kH kk fod 
, oa Ñ f=e  m íh id k s a d s e/; v u q ca/k u d ks 
d k S u&lk  d kjd  /ku kRed  :i ls izH kkf or  

u gh au gh au gh au gh a  d jrk  gS \ 
1) m íh id ks a d s iz Lr q rh d j. k d k m i; q Dr  

l e; 
2) m íh id ks a     d h     iq ujko ` fÙ k 
3) f u; a f= r ok rk oj. k 
4) iz s jd  d h d e h 

  15. In Pavlov's conditioning theory, 

which factor does not positively 

affect the conditioning between 

natural and artificial stimuli ? 

1) Appropriate timing of stimuli 

presentation 

2) Repetition of stimuli 

3) Controlled environment 

4) Lack of motive 

16. fu Eu fyf [k r e sa ls d kSu &lk d k jd  f'k{k . k 
v f/ kxe  iz fØ ; k d k s izH k kfo r u ghau ghau ghau gha   d jrk   
gS \ 
1) f 'k{kd  d k  'k kjhf jd  :i 
2) f 'k{kd  d k  e ku fld  Lo kLF ; 
3) f 'k{kd  d k  f o" k; oLr q K ku 
4) f 'k{kd  d k  l a iz s " k. k d kS'k y 

  16. Which of the following factors does 

not affect the teaching learning 

process ? 

1) Physical appearance of teacher 

2) Mental health of teacher 

3) Content knowledge of teacher 

4) Communication skills of teacher 
17. fu Eu fyf [k r e s a ls d kS u &lk d k jd 

i;k Z oj. kh ; d kjd k s a d s vU rxZ r cPp ks a ds 
fo d k l d ks izHk kf or u g hau g hau g hau g ha  d jr k \ 
1) iks " k. k 
2) xH kk Z oLF k k d s nkS jku e k¡ d k  ekufl d 

r uk o 
3) nq ?k Z Vu k, ¡ 
4) v Ur%òk oh  xz a fF k ;k¡ 

  17. Which of the following factor does 

not influence the development of 

child under environmental factors ? 

1) Nutrition 

2) Mental stress of the mother 

during pregnancy 

3) Accidents 

4) Endocrine glands 

18. ^mi;ks x dk fu;e* ,oa ^vuqi;ks x dk fu;e* 
FkkWuZMkbd ds vf/kxe fl)kar ds vuq lkj 
fdl lh[kus ds fu;e ls la caf/kr gS \ 
1) r Rijrk d k  f u; e 
2) v H ; kl d k  f u; e 
3) izH kk o d k  f u; e 
4) c gq iz fr fØ ; k d k f u; e 

  18. 'Law of use' and 'Law of disuse' is 

related with which law of learning 

according to Thorndike's learning 

theory ?  

1) Law of readiness 

2) Law of exercise 

3) Law of effect 

4) Law of multiple response 
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19. fu Eu fyf [k r es a l s d kS u &lk ;q Xe  v f Hk izs j. kk 
d s fl ) ka rk s a , o a m ud s iz fr ik nd ks a ds la ca/k  es a 
lgh u gh au gh au gh au gh a   gS \ 

v fH k iz s j. kk Re d  f l) ka rv fH k iz s j. kk Re d  f l) ka rv fH k iz s j. kk Re d  f l) ka rv fH k iz s j. kk Re d  f l) ka r     iz f r ikndiz f r ikndiz f r ikndiz f r iknd     
1) ew y  iz o ` fÙ k fl ) ka r 
2) v ko';d rk ink uq Ø e 

fl ) ka r 
3) iz .k ks n fl) k a r 
4) m iyf C/k  v f Hk iz sj. k k 

fl ) ka r 

 , V fd a lu 
 e S lyk s 

 
 o q MoF kZ 
 e S Dyhy Sa M 

 

  19. Which of the following pair is not 

correct regarding motivational 

theories and their proponents ? 

Motivational Theories Proponent 

1) Instinct theory 

2) Need Hierarchical 

theory 

3) Drive theory 

4) Achievement 

Motivation theory 

Atkinson 

Maslow 

 

Woodworth 

Mc'Clelland 

 

20. le ko s'kh f 'k {kk  l s r kRi ; Z gS % 
1) l kek ftd  :i l s o a fpr c Ppk sa ds fy, 

f 'k{kk  
2) f nO ;k a x cPp ks a ds f y, f 'k{k k 
3) l kek U; , oa fnO; ka x c P pks a d s fy, 

f 'k{kk  
4) l H kh c Pp ks a d s fy, f'k{k k 

  20. Inclusive Education means : 

1) Education for socially deprived 

children 

2) Education for disabled children 

3) Education for normal and 

disabled children 

4) Education for all children 
21. fu Eu fyf [k r e sa ls d kS u &l k izH kk oh  v f/k xe 

d k  , d  fl )ka r u gh au gh au gh au gh a   gS \ 
1) v f H kiz s j. k k 
2) o S ;f Dr d  igq ¡ p 
3) f uf "Ø ; m if LF kf r 
4) iz fr iqf "V  

  21. Which of the following is not a 

principle of effective learning ? 

1) Motivation 

2) Individual approach 

3) Passive attendance 

4) Feedback 

22. xS us d s v u q lkj] , d  f 'k{kd  }k jk f o| kf F kZ ; ka s 
d k s fd l m Ppre  Lr j d s v f /kxe rd  ys 
tk us d k iz ;k l d juk  p kfg, \ 
1) l a iz R; ; v f /kxe 
2) l eL; k lek /kk u v f/k xe  
3) f u; e v f/k xe  
4) f oH k s nu  v f /kxe 

  
22. According to Gagne, to what 

highest level of learning should a 

teacher strive to take students ? 

1) Concept learning 

2) Problem solving learning 

3) Rule learning 

4) Discrimination learning 
23. LV uZ c xZ d s f= ra = h; fl) k a r es a c q f)  ds  

fd u rh u igy qv ks a ij cy  f n; k x;k gS \  
(a) ? kV d h; (b) v u qH ko tU; 
(c) l a fØ ; kRe d (d) l a nH k kZ Re d 

l ghl ghl ghl gh  dw V d k p; u d hf t, %  
d w V % d w V % d w V % d w V %     
1) (a), (b) , o a (c) 
2) (b), (c) , o a (d) 
3) (a), (b) , o a (d) 
4) (a), (c) , o a (d) 

  23. Which three aspects of 

intelligence are emphasized in the 

triarchic theory of Sternberg ? 

(a) Componential (b) Experiential 
(c) Operational     (d) Contextual 
Choose the correct code : 

Code :  

1) (a), (b) & (c) 
2) (b), (c) & (d) 
3) (a), (b) & (d) 
4) (a), (c) & (d) 
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24. /k heh  xfr d s v f/k xe d rkZ d s fy, d kS u&l k 
'kS f {kd  gLr{k s i m i; q Dr u g hau g hau g hau g ha  gS \ 
1) R oj. k 
2) m ip kjkR ed  f'k {k. k 
3) v H ; kl d k ;Z 
4) l gd k jh f'k{k . k fo f/k  

  
24. Which educational intervention is 

not suitable for slow learners ? 

1) Acceleration 

2) Remedial teaching 

3) Drill work 

4) Cooperative teaching method 

25. fd 'kks jko LF kk  esa Lo hÑ r l ke kft d  O;o gkj 
iS Vu Z d s f y, l ghl ghl ghl gh   d w V d k p; u d hf t, % 
(a) u s r` R o dq'ky rk  
(b) ijku qHk w fr 
(c) v ga&d s fUnz r rk 
(d) :f <+ o kf nr k 

d w V %d w V %d w V %d w V %     
1) (a) ,o a (b)  2) (b) , o a (d) 
3) (a), (b) , oa (c) 4) (a), (c) ,o a (d) 

  25. Choose the correct code for the 

approved social behaviour pattern 

in adolescence : 

(a) Leadership skills 
(b) Empathy 
(c) Ego-centrism 
(d) Stereotyping 
Codes : 

1) (a) & (b)   2) (b) & (d) 
3) (a), (b) & (c) 4) (a), (c) & (d) 

26. lr r~ , o a O;k id  ew Y; ka du  d k l ghl ghl ghl gh  vF kZ   
gS %  
(a) y xk rkj ijh {kk ,¡ ys u k 
(b) m i; q Dr v a r jk y d s c kn fu jU rj 

ijh{kk ,¡ ys u k 
(c) 'k S f{kd  rF k k l g& 'kS f {kd  nk s uks a i{k ks a d k 

e w Y;k a du d juk 
(d) d s o y 'kS f {kd  miyf C/k  ekiuk  

l ghl ghl ghl gh  dw V d k p; u d hf t, %  
d w V % d w V % d w V % d w V %     
1) (b) , o a (d) 
2) (b) , o a (c) 
3) (a), (b) , o a (c) 
4) (b), (c) , o a (d) 

  26. The true meaning of continuous 

and comprehensive evaluation is : 

(a) Taking frequent tests 
(b) Taking continuous tests at 

appropriate intervals 
(c) To evaluate scholastic and co-

scholastic both aspects 

(d) Measuring only educational 

achievements 
Choose the correct code : 

Code :  

1) (b) & (d) 
2) (b) & (c) 
3) (a), (b) & (c) 
4) (b), (c) & (d) 

27. o g f 'k {kk tk s ^ d jd s lh [k us*  d k s c <+ k ok  ns rh 
gS v k Sj lh[ ku s d s fy , fo| k fF kZ ; ks a d h muds 
o kr ko j. k  d s lk F k v a r%fØ ;k  lq fu f'pr 
d jr h gS]  o g d gyk rh  gS % 
1) f of 'k"V f 'k {kk  
2) iz xfr'k hy f'k {kk  
3) , d hÑ r f'k {kk 
4) l eko s'kh  f 'k{kk  

  
27. The education which promotes 

'learning by doing' and ensures the 

student's interaction with their 

environment to learn, that is known as : 

1) Special education 

2) Progressive education 

3) Integrated education 

4) Inclusive education 
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28. n` f"V ck f/k r f o| kfF kZ ;k s a ds fy , d kS u&l h 
f'k {k. k lgk; d  l kexz h mi; ks xh u ghau ghau ghau gha     
gks xh \  
1) c z s y lke xzh 
2) c ks yr h fd rk cs a 
3) f Q Ye fLV ª Il 
4) mH kjs gq , eku fp = 

  
28. Which teaching support material is 

not useful for visually impaired 

students ? 

1) Braille materials 

2) Talking books 

3) Film strips 

4) Embossed map 

29. v f/ kxe  d ks izH k kfo r d jus o kys fu Eufyf[ kr 
d k jd ksa ds lghlghlghlgh  dw V d k  p ;u  d hft , % 
 
(a) v f H kiz s j. k k  

(b) v f H k{ke rk 
(c) v f H k#f p  

(d) v o/kk u 
d w V % d w V % d w V % d w V %     
1) (c) , o a (d) 
2) (a), (b) , oa (d) 
3) (a) , oa (c) 
4) (a), (b), (c) , oa (d) 

  
29. Choose the correct code of the 

following factors, which affects 

learning : 

(a) Motivation  

(b) Aptitude 

(c) Interest  

(d) Attention 

Code : 

1) (c) & (d) 

2) (a), (b) & (d) 

3) (a) & (c) 

4) (a), (b), (c) & (d) 

30. , d  vf /kxe d fBu kbZ t ks cPps ds fy, o. kkZ s a 
v kS j 'kCnks a es a v a rj d jus es a leL; k mR iUu  
d jr h gS % 
1) f MLI ykf LVf l;k  
2) f MLys f Dl;k  
3) f MLxz kfQ ;k  
4) f MLd S yd q fy ;k 

  
30. A learning difficulty that create 

problem for a child to distinguish 

letters and words is : 

1) Dysplasticia 

2) Dyslexia 

3) Dysgraphia 

4) Dyscalculia 
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HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

fgUnhfgUnhfgUnhfgUnh (HINDI) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 

31. foykse 'kCn ds laca/k esa dkSu&lk ;qXe 
vlaxrvlaxrvlaxrvlaxr  gS \ 
1) ?ke.Mh & fouhr 
2) fpjk;q & nh?kkZ;q 
3) rk#.; & ok/kZD; 
4) rstLoh & fuLrst 

32. rRiq#"k lekl dk dkSu&lk leLrin vius 
;qXe ls lgh lqesfyr ughaughaughaugha  gS \ 
1) xq#nf{k.kk & laca/k rRiq#"k 
2) ns'kkVu & vf/kdj.k rRiq#"k 
3) js[kkafdr & dj.k rRiq#"k 
4) ns'kfuokZflr & viknku rRiq#"k 

33. fuEu esa ls dkSu&lk laf/k 'kCn vius ;qXe 
ls lqesfyr ughaughaughaugha  gS \ 
1) vtar & O;atu laf/k 

2) o;kso`) & folxZ laf/k 

3) egkSnk;Z & o`f) Loj laf/k 

4) rstksiqat & xq.k Loj laf/k 

34. ^x*] ^y* rFkk ^c* mDr o.kksZa dk Øe'k% 
mPpkj.k LFkku gS % 

1) rkyq] d.B] vks"B 

2) nUr] d.B] rkyq 

3) d.B] nUr] vks"B 

4) vks"B] d.B] rkyq 

35. fdl fodYi dk okD; iwoZdkfyd fØ;k dk 
mnkgj.k ughaughaughaugha  gS \ 
1) jke [ksydj pyk x;kA 
2) rqEgsa ,slk djuk 'kksHkk ugha nsrk gSA 
3) lhrk [kkuk cukdj t;iqj tk,xhA 
4) v/;kid mnkgj.k nsdj Nk=ksa dks 

i<+krs gSaA 

36. ^uhe gdhe [k+rjs tku* mDr yksdksfDr dk 
lghlghlghlgh  vFkZ gS % 
1) igys LokFkZ ckn esa ijekFkZ djukA 
2) vYiKku [k+rjukd gksrk gSA 
3) nks"kh ds lkFk funksZ"k dks lt+k feyukA 
4) vR;Ur /khjs dke pyukA 

37. okD;ka'k ds fy, ,dy 'kCn ds laca/k esa 
dkSu&lk ;qXe vlaxrvlaxrvlaxrvlaxr  gS \ 
1) ftls ogu djuk dfBu gks & nqfoZHkkO; 
2) ftls fdlh us u lw¡?kk gks & vuk?kzkr 
3) dksbZ dke djus dh bPNk & fpdh"kkZ 
4) fot; izkfIr dh rhoz bPNk & fothfx"kk 

38. fdl fodYi ds 'kCnksa esa okrZfud v'kqf) 
ughaughaughaugha  gS \ 
1) lq/khtu] 'krkCnh 

2) lk/kwokn] lqjljh 

3) 'kwHks"kh] Hkk;kZifr 

4) pUnzeksfy] iq=s"k.kk 
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39. fdl Øekad esa ^dknacjh&dknafcuh* 
'kCn&;qXe dk Øe'k% lghlghlghlgh vFkZ gS \ 
1) 'kjkc] ?kVk 
2) dq'ky] lsod 
3) fouhr] cqjkbZ 
4) dq'ky] ifo= 

40. fuEu esa ls dkSu&lk 'kCn ^/kuq"k* dk 
i;kZ;okph ughaughaughaugha  gS \ 
1) pki 2) dkeqZd 
3) 'kjklu 4) dklkj 

41. fo'ks"k.k ds laca/k esa dkSu&lk dFku vlaxrvlaxrvlaxrvlaxr 
gS \ 
1) ftl fodkjh 'kCn ls laKk dh O;kfIr 

e;kZfnr gksrh gS] mls fo'ks"k.k dgrs gSaA 
2) ^Hkyk] nkuh] nq"V* mDr 'kCn] 

xq.kokpd fo'ks"k.k ds mnkgj.k gSaA 
3) ^d{kk esa lkB Nk= i<+rs gSa* & 

la[;kokpd fo'ks"k.k dk mnkgj.k gSA 
4) ladsrokpd fo'ks"k.k esa fdlh oLrq dh 

uki ;k rkSy dk cks/k gksrk gSA 

42. laKk ds laca/k esa dkSu&lk dFku laxr ughaughaughaugha  
gS \ 
1) O;fDrokpd laKkvksa dk iz;ksx lnSo 

¼vknjkFkZd ds vfrfjDr½ ,dopu esa 
gksrk gSA 

2) ns'k] R;ksgkj] unh mDr O;fDrokpd 
laKk ds mnkgj.k gSaA 

3) ^nzO;okpd* rFkk ^lewgokpd*] 
tkfrokpd laKk ds gh Hksn ekus tkrs 
gSaA 

4) ^fo}Ùkk*] ^ikafMR;* mDr ;kSfxd 
Hkkookpd laKk ds mnkgj.k gSaA 

43. loZuke ds laca/k esa dkSu&lk ;qXe laxr 
ughaughaughaugha  gS \ 

1) eSaus vkt O;kdj.k i<+k & iq#"kokpd  
loZuke 

2) dejs esa dksbZ g¡l jgk gS &  
vfu'p;okpd loZuke 

3) blh us esjh ftanxh cpkbZ Fkh &  
iz'uokpd loZuke 

4) og Lo;a dks lq/kkj jgk gS &  
futokpd loZuke 

44. fuEu esa ls dkSu&lk 'kCn ^viR;okpd 
rf)r izR;;* ls fufeZr ughaughaughaugha  gS \ 
1) oSurs;  

2) dkSjo 

3) oklqnso  

4) oS/kO; 

45. milxZ dh n`f"V ls fdl fodYi dk 
'kCn&;qXe vlaxrvlaxrvlaxrvlaxr  gS \ 
1) fuj~ & fujkdj.k] fujijk/k 

2) vuq & vuwfnr] vUoh{k.k 

3) ijk & ijkFkZ] ijkfJr 

4) lq & lqnwj] lqÑr 
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vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH 

Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct option that 

gives the correct passive voice of 

the given sentence : 

Have they done the work ? 

1) Have the work been done ? 

2) Has the work been done ? 

3) Had the work been done ? 

4) Will the work be done ? 

47. Choose the option that gives the 

correct meaning of the phrasal 

verb : 

Turn out 

1) to evict someone 

2) to kill someone 

3) to ridicule someone 

4) to give legal notice to someone 

48. Fill in the blank with the most 

appropriate modal auxiliary : 

Your mother is seriously ill. You 

........... leave for home at once. 

(obligation) 

1) needs 2) might 

3) could 4) must 

49. Choose the option that gives the 

correct meaning of the given 

phrasal verb : 

Send for 

1) start on a journey 

2) reach to a decision 

3) call someone in 

4) improve 

50. Change the narration to Reported 

speech and choose the right option : 

I said to him, "Do you know when 

she will go home ?" 

1) I told him if he knew when she 

will go home ? 

2) I said to him that did he knew 

when she would go home. 

3) I asked him if he knew when 

she would go home. 

4) I said to him that did he know 

when will she go home ? 

51. Choose the part of sentence which 

is incorrect : 

Has Sachin / not breaked / the 

      (A)    (B) 

record held / by Bradman who 

   (C)            (D) 

made 10,000 runs in his career ? 

1) A 2) B 

3) C 4) D 

52. Choose the correct option for the 

given one word : 

Sinecure 

1) one who lives by himself 

2) an office with no work but high 

pay 

3) surgery without anesthesia 

4) cure by naturopathy 
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53. Fill in the blank with the most 

appropriate meaning of the 

underlined idiom : 

Rakesh had to deal with all his 

problems by himself, because he 

didn't want to depend on his fair 

weather friends. 

1) Friends who come from rich 

family. 

2) Friends who are loyal only 

during a time of success. 

3) Friends with whom one lived in 

one's college time. 

4) Friends who no longer live 

with you. 

54. Choose the correct tense form to 

fill in the blank : 

She jumped off the train while it 

.............. . 

1) moved  

2) had moved 

3) has moved  

4) was moving 

55. Choose the correct tense form to 

fill in the blank : 

The Headmaster ............ to meet 

you. 

1) want 

2) wants 

3) is wanting 

4) was wanting 

56. Choose the correct option to fill in 

the blank : 

........... had the police reached 

than the thieves fled. 

1) As soon as 

2) No sooner 

3) Scarcely 

4) As well 

57. Choose the correct preposition to 

fill in the blank : 

He told all .......... the incident. 

1) between 2) among 

3) beside 4) about 

58. Choose the most appropriate 

preposition to fill in the blank : 

I am going home the day ........... 

tomorrow. 

1) in 2) on 

3) after 4) at 

59. Choose the most appropriate 

preposition to fill in the blank : 

Mohan gazed ............ the sky in 

the hope of rain. 

1) at 2) unto 

3) besides 4) into 

60. Choose the option that gives the 

correct meaning of the given 

phrasal verb : 

Give in 

1) distribute 2) deposit 

3) donate 4) surrender 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u / GENERAL STUDIES 

ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKku / Quantitative Aptitude, Reasoning 

Ability and G. K. & Awareness 

funsZ'kfunsZ'kfunsZ'kfunsZ'k    %%%% fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lclslclslclslcls mfpr mfpr mfpr mfpr fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

61. A, iwoZ fn'kk ls if'pe esa 8 fdeh pyrk 
gS rFkk nk;sa eqM+dj 2 fdeh pyrk gS iqu% 
nk;sa eqM+dj 5 fdeh pyrk gS] rks og 
'kq#vkr fcUnq ds lanHkZ esa vc fdl fn'kk 
esa fLFkr gS \ 
1) nf{k.k&if'pe 2) mÙkj&if'pe 
3) mÙkj&iwoZ 4) nf{k.k&iwoZ 

  61. A travels 8 km from East to West and 

turns right and travel 2 km. Now 

again he turn right and travel 5 km. In 

which direction is he now positioned 

with reference to starting point ? 

1) South-West 2) North-West 

3) North-East 4) South-East 
62. ;fn fdlh dwV Hkk"kk esa 'PROJECT' dks 

'CEOPRT' rFkk 'PLANE' dks 'ELNP' 

fy[kk tkrk gS] rks 'ORGANISED' dks mlh 
dwV Hkk"kk esa fdl izdkj fy[kk tk,xk \ 
1) ADEGIOSR 2) ADEGIROS 

3) ADEGOIRS 4) ADEGIORS 

  62. If 'PROJECT' is coded as 'CEOPRT' 

and 'PLANE' is coded as 'ELNP' then 

the 'ORGANISED' will be coded     

as : 

1) ADEGIOSR 2) ADEGIROS 

3) ADEGOIRS 4) ADEGIORS 
63. yM+dksa dh ,d iafDr esa] A ck;ha rjQ ls 

7osa rFkk B nk;ha rjQ ls 12osa LFkku ij 
gS] ;fn muds LFkkuksa esa ijLij ifjorZu 
fd;k tkrk gS] rks A dk ck;ha rjQ ls 
22ok¡ LFkku gks tkrk gS] rks iafDr esa dqy 
yM+dksa dh la[;k gS % 
1) 27 2) 31 
3) 33 4) 34 

  63. In a row of boys, A is 7th from the 

left and B is 12th from the right. If 

they interchange their positions A 

becomes 22nd from the left. How 

many total boys are there in a    

row ? 

1) 27 2) 31 
3) 33 4) 34 

64. ,d ifjokj esa] A, X dk firk gS] B, Y dh 
ekrk gS] rFkk X o Z dh cgu Y gks] rks 
fuEufyf[kr dFkuksa esa ls dkSu&lk dFku 
fuf'pr :i ls lgh ughaughaughaugha  gS \ 
1) B, A dh iRuh gS 
2) B dh ,d iq=h gS 
3) X, A dk iq= gS 
4) Y, Z dh cgu gS 

  64. In a family, A is the father of X, B is 

the mother of Y. The sister of X and 

Z is Y. Which of the following 

statement is definitely not true ? 

1) B is the wife of A 

2) B has a daughter 

3) X is the son of A 

4) Y is the sister of Z 
65. nh xbZ Üka`[kyk esa xyrxyrxyrxyr la[;k gS % 

 0, 3, 9, 12, 36, 39, 42, 120, 360 

1) 12 2) 39 
3) 42 4) 360 

  65. Find the wrong number in the 
given series : 

0, 3, 9, 12, 36, 39, 42, 120, 360 
1) 12 2) 39 
3) 42 4) 360 
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66. ;fn A nf{k.k fn'kk esa 8 fdeh tkdj rc 
nkfgus rjQ eqM+dj 6 fdeh pyrk gS rFkk 
iqu% mÙkj&iwoZ fn'kk esa eqM+dj 10 fdeh 
pyrk gS] rks A izkjfEHkd fcUnq ls fdruh 
nwjh ij gS \ 
1) 0 fdeh 2) 8 fdeh 
3) 10 fdeh 4) 12 fdeh 

  
66. If A walks 8 km South then turn 

right and walks 6 km and again 

turns North-East and walks 10 km. 

How far is A from the starting   

point ? 

1) 0 km 2) 8 km 

3) 10 km 4) 12 km 

67. ;fn 10 O;fDr fdlh dk;Z dk 








5

2  ok¡ 

Hkkx djus esa 8 fnu yxkrs gSa] rks mlh dk;Z 
ds 'ks"k dk;Z dks 12 fnuksa esa iw.kZ djus ds 
fy, fdrus O;fDr;ksa dh vko';drk gksxh \ 
1) 6 2) 8 
3) 10 4) 12 

  67. If 10 persons can complete 








5

2 th

 

of a work in 8 days, then how many 

persons are required to complete 

the remaining work in 12 days ? 

1) 6 2) 8 
3) 10 4) 12 

68. ,d yEc fizTe dk vk/kkj ,d f=Hkqt gS] 
ftldk ifjeki 32 lseh gS vkSj f=Hkqt dh 
var% f=T;k 6 lseh gS] ;fn fizTe dk vk;ru 
576 ?ku lseh gS] rks bldh Å¡pkbZ gS % 
1) 4 lseh 2) 5 lseh 
3) 6 lseh 4) 8 lseh 

  68. The base of a right prism is a 

triangle whose perimeter is 32 cm 

and the inradius of the triangle is    

6 cm. If the volume of the prism is 

576 cc, then its height is : 

1) 4 cm 2) 5 cm 
3) 6 cm 4) 8 cm 

69. ;fn ,d fu;fer cgqHkqt esa fod.kksaZ dh 
la[;k 27 gks] rks bldh Hkqtkvksa dh   
la[;k gksxh % 
1) 6 2) 9 

3) 10 4) 12 

  69. If the number of diagonals of a 

regular polygon is 27, then the 

number of sides is : 

1) 6 2) 9 

3) 10 4) 12 
70. nks feJ /kkrqvkas A rFkk B esa] rk¡ck rFkk 

tLrk dk vuqikr Øe'k% 5 : 2 rFkk 3 : 4 
gS] bu feJ /kkrqvksa esa ls A dk 7 fdxzk 
,oa B dk 21 fdxzk feykdj ,d ubZ feJ 
/kkrq cukbZ tkrh gS] bl ubZ feJ /kkrq esa 
rk¡cs rFkk tLrk dk vuqikr D;k gS \ 
1) 1 : 2 2) 2 : 1 

3) 2 : 3 4) 1 : 1 

  70. In two alloys A and B, the ratio of 

copper and zinc is 5 : 2 and 3 : 4 

respectively. 7 kg of alloy A and 21 

kg of the alloy B are mixed 

together to form a new alloy. What 

will be the ratio of copper and zinc 

in the new alloy ? 

1) 1 : 2 2) 2 : 1 

3) 2 : 3 4) 1 : 1 
71. ;fn 7 cosec θ – 3 cot θ = 7 tgk¡ θ 

izFke prqFkkZa'k esa gks] rks 7 cot θ – 3 

cosec θ dk eku gS % 
1) 3 2) 5 

3) 3/7 4) 5/7 

  71. If 7 cosec θ – 3 cot θ = 7 where θ is 

in first quadrant, then the value of       

7 cot θ – 3 cosec θ is equal to : 

1) 3 2) 5 

3) 3/7 4) 5/7 
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72. ;fn ,d o`Ùk esa] ,d leckgq f=Hkqt ABC 
varfuZfgr fd;k tkrk gS] f=Hkqt ds 'kh"kksZa ls 
[khaph xbZ Li'kZ js[kkvksa ls cuus okyk 
f=Hkqt gksxk % 
1) fo"keckgq f=Hkqt 
2) lef}ckgq f=Hkqt 
3) leckgq f=Hkqt 
4) ledks.kh; f=Hkqt 

  
72. If an equilateral triangle ABC be 

inscribed in a circle, then the 

tangents at their vertices will form 

another triangle is : 

1) Scalene triangle 

2) Isosceles triangle 

3) Equilateral triangle 

4) Right angled triangle 

73. ,d nqdkunkj] ,d oLrq 15% ykHk ij 
csprk gS] vxj mlus mls 18 #i;s vf/kd 
esa cspk gksrk] rks ykHk 18% gks tkrkA ml 
oLrq dk Ø; ewY; ¼#i;s esa½ gS % 
1) 600 2) 540 

3) 350 4) 380 

  
73. A shopkeeper sells an article at 15% 

gain. Had he sold it for Rs. 18 more; 

he would have gained 18%. The 

cost price (in Rs.) of the article is : 

1) 600 2) 540 

3) 350 4) 380 

74. fuEufyf[kr Js.kh dk yqIr in gS % 
 
 DBC, KIJ, QOP, __?__, ZXY 

1) VUW 2) USV 

3) UTV 4) VTU 

  74. The missing term of the following 

series is : 

 DBC, KIJ, QOP, __?__, ZXY 

1) VUW 2) USV 

3) UTV 4) VTU 

75. nks /kukRed la[;kvksa dk vUrj 3 gS] ;fn 
muds oxksZa dk ;ksx 369 gks] rks mu 
la[;kvksa dk ;ksx gS % 
1) 25 2) 27 

3) 31 4) 33 

  75. The difference between two 
positive numbers is 3. If the sum of 
their squares is 369, then sum of 
the numbers is : 
1) 25 2) 27 
3) 31 4) 33 

76. foHkktu ds ,d ;ksxQy esa foHkktd] 
HkkxQy dk 12 xquk rFkk 'ks"kQy dk 5 
xquk gS] rks ;fn mlesa 'ks"kQy 36 gks] rks 
HkkT; gS % 
1) 2706 2) 2736 
3) 2796 4) 2766 

  76. In a division sum, the divisor is 12 

times the quotient and 5 times the 

remainder. If the remainder is 36, 

then the dividend is : 

1) 2706 2) 2736 
3) 2796 4) 2766 

77. ;fn A ^foHkktu dks*] B ^;ksx dks*] C 
^?kVkus dks* rFkk D ^xq.ku dks* iznf'kZr 
djrs gSa] rks 20 C 12 B 8 A 2 D 6 
cjkcj gSa % 
1) 16 2) 18 

3) 32 4) 36 

  77. If A denotes 'divided by', B denotes 
'added to', C denotes 'subtracted 
from' and D denotes 'multiplied 
by', then 20 C 12 B 8 A 2 D 6 is 
equal to : 

1) 16 2) 18 

3) 32 4) 36 
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78. ,d O;fDr 12 fdyksehVj dh nwjh 3 fdeh 
izfr ?k.Vk] 18 fdyksehVj dh nwjh 9 fdeh 
izfr ?k.Vk rFkk 24 fdyksehVj dh nwjh 4 
fdeh izfr ?k.Vk ls r; djrk gS] rks lEiw.kZ 
nwjh r; djus dh vkSlr pky gS % 
1) 4 fdeh@?k.Vk  2) 4.2 fdeh@?k.Vk 
3) 4.4 fdeh@?k.Vk  4) 4.5 fdeh@?k.Vk 

  78. A person covers 12 km at 3 km/hr, 

18 km at 9 km/hr and 24 km at 4 

km/hr. The average speed in 

covering the whole distance is : 

 

1) 4 km/hr 2) 4.2 km/hr 

3) 4.4 km/hr 4) 4.5 km/hr 

79. fn, x, fodYiksa esa ls fo"ke dks Kkr 
dhft, % 
1) lkjaxh 2) oh.kk 
3) fxVkj 4) ckalqjh 

  
79. Find the odd word from the given 

alternatives : 

1) Violin 2) Harp 

3) Guitar 4) Flute 

80. ;fn 16 – 4 = 2, 9 – 3 = 2, 81 – 3 = 4 
gks] rks 64 – 4 dk eku gS % 
1) 3 2) 2 

3) 4 4) 6 

  
80. If 16 – 4 = 2, 9 – 3 = 2, 81 – 3 = 4, 

then the value of 64 – 4 is : 

1) 3 2) 2 

3) 4 4) 6 

81. 1857 ds fonzksg ds nkSjku] fuEufyf[kr eas 
ls fdlus jksgrd esa fczfV'k fBdkukas ij 
vkØe.k fd;k \ 
1) rQ ðt+y gqlSu  
2) beke vyh 
3) eksgj flag  
4) gjlq[k jk; 

  
81. During the revolt of 1857, who 

among the following attacked 

British establishments in Rohtak ? 

1) Tafzal Husain  

2) Imam Ali 

3) Mohar Singh  

4) Harsukh Rai 

82. gfj;k.kk dh eksjuh igkfM+;ksa dk lEca/k gS % 
1) vjkoyh Ük`a[kyk ls 
2) fganqdq'k Ük`a[kyk ls 
3) fgeky; dh cká Ükà[kyk ls 
4) fgeky; dh vkUrfjd Ük`a[kyk ls 

  
82. The Morni hills of Haryana belongs 

to : 

1) Aravalli range 

2) Hindukush range 

3) Outer range of Himalayas 

4) Inner range of Himalayas 

83. gfj;k.kk eas fx) laj{k.k dsUnz dgk¡ fLFkr 
gS \ 
1) than 2) fiatkSj 
3) egsUnzx<+ 4) vEckyk 

  
83. In Haryana, where the Vulture 

Conservation Centre is located ? 

1) Jind  2)  Pinjore 

3) Mahendragarh 4)  Ambala 

84. gfj;k.kk eas fdruh rglhy gSa \ 

1) 95 2) 49 

3) 143 4) 74 

  
84. How many Tehsils are there in 

Haryana ? 

1) 95 2) 49 

3) 143 4) 74 
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85. gfj;k.kk ds fdl ftys eas] [ksyks bafM;k 
efgyk rhjankth jSafdax izfr;ksfxrk dk 
vk;kstu fd;k x;k \ 
1) lksuhir 2) ikuhir 
3) djuky 4) ;equkuxj 

  85. In which district of Haryana, the 

Khelo India Women's Archery 

ranking competition was organised ? 

1) Sonipat 2) Panipat 

3) Karnal 4) Yamunanagar 

86. ;w0ih0,l0lh0 ds ps;jeSu] tks dkykUrj 
esa gfj;k.kk ds jkT;iky cus gSa % 
1) MkW0 ,0 vkj0 fdnobZ 
2) Jh eqt+¶Qj gqlSu cuhZ 
3) Jh ch0 ,u0 pØorhZ 
4) Jh egkchj izlkn 

  
86. The UPSC Chairman, who 

subsequently became the Governor 

of Haryana  : 

1) Dr. A. R. Kidwai 

2) Shri Muzaffar Husain Berney 

3) Shri B. N. Chakravarti 

4) Shri Mahabir Prasad 

87. pkoy dh Qly dks vf/kd ijEijkxr 
Qlyksa ls izfrLFkkfir djus gsrq gfj;k.kk 
ljdkj }kjk pykbZ tk jgh ;kstuk gS % 
1) esjh Qly esjk C;kSjk 
2) esjh fojklr 
3) esjk ikuh esjh fojklr 
4) gekjk /ku 

  
87. The Scheme, which is being run by 

the Haryana government to 
replace paddy crop with more 
tradition crops is : 

1) Meri Fasal Mera Byora 

2) Meri Virasat 

3) Mera Pani Meri Virasat 

4) Hamara Dhan 

88. gfj;k.kk esa us'kuy bfULVV~;wV vkWQ QS'ku 
VsDuksykWth laLFkku dgk¡ fLFkr gS \ 
1) ikuhir 2) vEckyk 
3) iapdqyk 4) dq#{ks= 

  
88. Where in the Haryana, the National 

Institute of Fashion Technology is 
located ? 

1) Panipat 2) Ambala 

3) Panchkula 4) Kurukshetra 

89. gfj;k.kk ds eq[; lwpuk vf/kdkjh dkSu gSa \ 
1) Jherh T;ksfr vjksM+k 
2) MkW0 txchj flag 
3) Jh fot; o/kZu 
4) Jherh deynhi Hk.Mkjh 

  
89. Who is the Chief Information 

Officer of Haryana ? 

1) Smt. Jyoti Arora 

2) Dr. Jagbir Singh 

3) Shri Vijay Vardhan 

4) Smt. Kamaldeep Bhandari 

90. gfj;k.kk ds fuEufyf[kr larkas eas ls dkSu 
iwj.k Hkxr ds uke ls yksdfiz; Fks \ 
1) ckck eLr ukFk 
2) ckck xksj[k ukFk 
3) ckck pkSjaxh ukFk 
4) ckck iwj.k ukFk 

  
90. Who among the following Sages of 

Haryana was popularly known as 
Puran Bhagat ? 

1) Baba Mast Nath 

2) Baba Gorakh Nath 

3) Baba Chaurangi Nath 

4) Baba Puran Nath 
 



  [ 19 / A ] 

[ Level-2 / 1208 ]  P. T. O. 

HkkxHkkxHkkxHkkx – IV / PART – IV 

dykdykdykdyk / ARTS 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

91. jaxr ds gYdsiu o xgjsiu dk |ksrd    
gS % 
1) iksr 2) vkHkk 
3) rku 4) Nk;k 

  
91. It devotes lightness and darkness 

of hue, is called : 

1) Texture 2) Tint 

3) Tone 4) Shade 

92. ^^jkgqy leiZ.k** uked fp= vtUrk dh 
fdl xqQk esa gS \ 
1) xqQk la[;k & 17 
2) xqQk la[;k & 9 

3) xqQk la[;k & 10 
4) xqQk la[;k & 16 

  
92. "Rahul Samarpan" painting is in 

which cave of Ajanta ? 

1) Cave No.- 17 

2) Cave No.- 9 

3) Cave No.- 10 

4) Cave No.- 16 

93. eFkqjk ewfrZdyk esa iz;qDr izLrj gS % 
 
1) ekcZy@laxejej izLrj 
2) dkyk xzsukbV izLrj 
3) dksVk izLrj 
4) lQsn fpÙkhnkj yky cyqvk izLrj 

  

93. Stone used in Mathura sculptures 

is : 

1) Marble stone 

2) Black Granite stone 

3) Kota stone 

4) White spotted red sand stone 

94. bafM;u lkslkbVh vkWQ vksfj;UVy vkVZ dh 
LFkkiuk gqbZ % 
1) 1926 esa 2) 1909 esa 
3) 1921 esa 4) 1907 esa 

  
94. Indian Society of Oriental Art was 

established in the year : 

1) 1926 2) 1909 

3) 1921 4) 1907 

95. fuEufyf[kr esa ls dkSu dEiuh 'kSyh ls 
lacaf/kr ughaughaughaugha  gS \ 
1) lsod jke 
2) gqlk yky 

3) >qed yky 
4) lkfgcjke 

  

95. Who among the following is not 

related to company school ? 

1) Sewak Ram 

2) Husa Lal 

3) Jhumak Lal 

4) Sahibram 
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96. LoxhZ; nsodh uUnu 'kekZ dh deZHkwfe    
Fkh % 
1) Hkkjr dyk Hkou] okjk.klh 
2) 'kkafrfudsru 

3) cuLFkyh fo|kihB] cuLFkyh 
 

4) Hkkjr Hkou] Hkksiky 

  
96. The work place of Late Shri Deoki 

Nandan Sharma was : 

1) Bharat Kala Bhawan, Varanasi 

2) Shantiniketan 

3) Banasthali Vidyapeeth, 

Banasthali 

4) Bharat Bhawan, Bhopal 

97. lu~ 1966 esa] ^^pksyk eaMy vkfVZLV~l 
foyst** dh LFkkiuk fdlus dh \ 
1) ih0 oh0 tkudhjke 
2) ds0 lh0 ,l0 ifUudj 
3) lrh'k xqtjky 
4) fpUrkef.k dj 

  

97. In 1966, who founded the "Chola 

Mandal Artist's Village" ? 

1) P. V. Janakiram 

2) K. C. S. Paniker 

3) Satish Gujral 

4) Chintamani Kar 

98. okrkfi@okrkfiiqjh xqQkvksa dk nwljk uke 
D;k gS \ 
1) ck?k 
2) flfxfj;k 
3) cknkeh 
4) flÙkuokly 

  

98. What is the other name for 

Vatapi/Vatapipuri caves ? 

1) Bagh 

2) Sigiriya 

3) Badami 

4) Sittanavasal 

99. lkjukFk dk izkphu uke Fkk % 
1) _f"kiÙku ;k e`xnko 
2) ewyxa/kdqVh 
3) /kes[k 
4) pade 

  
99. Sarnath's ancient name was : 

1) Rishipattana or Mrigadava 

2) Mulgandhkuti 

3) Dhamekh 

4) Chankam 

100. 'ks[kkokVh izfl) gS % 
1) fpf=r gosfy;ksa ds fy;s 
2) Nrfj;ksa ds fy;s 
3) dw,¡@ckofM+;ksa ds fy;s 
4) Åij ds lHkh 

  100. Shekhawati is famous for its : 

1) Painted Havelis 

2) Chhataris 

3) Wells/Baories 

4) All of the above 
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101. fuEufyf[kr esa ls dkSu [ktqjkgks eafnj lewg 
dk ughaughaughaugha  gS \ 
1) fo'oukFk eafnj 
2) y{e.k eafnj 
3) dUnfj;k egknso eafnj 
4) dkfydk ekrk eafnj 

  101. Which of the following is not in the 

Khajuraho temple group ? 

1) Vishwanath Temple 

2) Laxman Temple 

3) Kandariya Mahadev Temple 

4) Kalika Mata Temple 

102. Hkjgqr vkSj lkaph Lrwi esa iRFkj dh jsfyax 
vkSj izos'k }kj lacaf/kr gS % 
 
1) 'kqax dky ls 
2) ekS;Z dky ls 
3) iYyo dky ls 
4) dq"kk.k dky ls 

  
102. Stupas of Bharhut and Sanchi with 

stone railings and gateways 

belong to : 

1) Shunga period 

2) Maurya period 

3) Pallava period 

4) Kushana period 

103. ^^egs'k ewfrZ** lacaf/kr gS % 
1) ,syksjk xqQk ls 
2) ,sfyQSUVk xqQk ls 
3) dkUgsjh xqQk ls 
4) vtUrk xqQk ls 

  
103. "Maheshmurti" idol belongs to : 

1) Ellora caves 

2) Elephanta caves 

3) Kanheri caves 

4) Ajanta caves 

104. ^^egkHkkjr ds vk[;ku** mdsfjr feyrs    
gSa % 
1) dSyk'kukFk eafnj esa 
2) egkcfyiqje~ eafnj esa 
3) c`gnh'oj eafnj esa 
4) jktk jkuh eafnj esa 

  
104. "Stories from Mahabharata" are 

found engraved in : 

1) Kailashnath Temple 

2) Mahabalipuram Temple 

3) Brihadisvara Temple 

4) Raja Rani Temple 

105. Hkkjrh; fp=dyk ds N% vaxksa esa ^^Hkko** 
dk D;k vFkZ gS \ 
1) n`f"V dk Kku 
2) vkÑfr;ksa esa n'kZd dks fp=dkj ds 

ân; dh Hkkouk fn[kkbZ ns 
 

3) ns[ks gq, :iksa dh leku vkÑfr 
4) Bhd vuqikr] uki rFkk cukoV 

  
105. What is the meaning of "Bhava" in 

six limbs of Indian Painting ? 

1) A knowledge of appearance 

2) Audience should see the 

feelings of the painter's heart 

in the figures 

3) Similitudes 

4) Correct proportion, measure 

and structure of forms 
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106. cq) ds thou ds n`'; ,oa tkrd dFkkvksa 
ds n`'; Lrwi ds Qydksa esa nf'kZr gSaa % 
 
1) lkjukFk Lrwi 
2) vejkorh Lrwi 
3) Hkjgqr Lrwi 
4) ikijhogk Lrwi 

  
106. Scenes from the life of Buddha and 

Jataka stories are found reflected 

in the panels of the stupa : 

1) Sarnath stupa 

2) Amaravati stupa 

3) Bharhut stupa 

4) Papriwaha stupa 

107. dkSu&lh dyk fuf'pr fl)kUrksa o fuf'pr 
fu;eksa ij vk/kkfjr gS \ 
1) 'kkL=h; dyk 
2) vk/kqfud dyk 
3) cky dyk 
4) yksd dyk 

  107. Which art is based on fixed 

principles and fixed rules ? 

1) Classical Art 

2) Modern Art 

3) Child Art 

4) Folk Art 

108. dc lafo/kku lHkk us ,d u;s /ot dks 
LorU= Hkkjr ds jk"Vª/ot ds :i esa 
Lohdkjk \ 
1) vxLr 8, 1943 

2) vDVwcj 13, 1940 

3) tqykbZ 22, 1947 

4) tuojh 26, 1950 

  
108. When did the Constituent 

Assembly adopted the new flag as 

Free India National Flag ? 

1) August 8, 1943 

2) October 13, 1940 

3) July 22, 1947 

4) January 26, 1950  

109. ck?k esa dqy fdruh xqQk,¡ gSa \ 
1) N% 2) ik¡p 

3) ukS 4) vkB 

  
109. How many caves are in Bagh ? 

1) Six 2) Five 

3) Nine 4) Eight 

110. esokM+ 'kSyh ds lcls izkphu fp= viHkza'k 
'kSyh esa fufeZr ^lqik'oZukpfj;e* ,oa 
^lqik'oZukFke* fpf=r gqbaZ yxHkx % 
 
 
1) 1423 bZ0 
2) 1428 bZ0 

3) 1432 bZ0 

4) 1450 bZ0 

  

110. The oldest manuscripts of Mewar 

painting painted in Apbhransh 

style 'Suparshavnachariyam' and 

'Suparshanatham' were painted in 

about : 

1) 1423 A. D. 

2) 1428 A. D. 

3) 1432 A. D. 

4) 1450 A. D. 
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111. Ldwy ftls cq) vkSj cksf/klRo dh izfrek;sa 
cukus esa fo'ks"krk gkfly Fkh % 
 
1) xka/kkj 
2) eFkqjk 
3) lkjukFk 
4) vejkorh 

  
111. The school which specialized in 

making Buddha and Bodhisattva 

Images : 

1) Gandhar 

2) Mathura 

3) Sarnath 

4) Amaravati 

112. oqMdV fizafVax djus dk lghlghlghlgh rjhdk gS % 
 
1) Mªkbax] dkfoZax] bafdax] fizafVax 

 
2) dkfoZax] fiazfVax] Mªkbax] bafdax 

 

3) Mªkbax] bafdax] dkfoZax] fizafVax 
 
4) fizafVax] dkfoZax] bafdax] Mªkbax 

  
112. The correct order of doing 

Woodcut printing is : 

1) Drawing, Carving, Inking, 

Printing 

2) Carving, Printing, Drawing, 

Inking 

3) Drawing, Inking, Carving, 

Printing 

4) Printing, Carving, Inking, 

Drawing 

113. dkys jax dk uje ydM+h dk dks;yk 
dgykrk gS % 
1) isafly 2) pkjdksy 

3) isLVy 4) pkWd 

  
113. Black colour soft wood coal is 

called : 

1) Pencil 2) Charcoal 

3) Pastel 4) Chalk 

114. fdl tks/kiqj egkjktk ds dky esa ^<ksyk 
ekjokuh* fcjgk ij 121 fp=ksa dh Ükà[kyk 
cukbZ xbZ \ 
 
1) eku flag 
2) cht;flag 
3) tloUrflag 
4) fd'kuflag 

  

114. During the reign of which Jodhpur 

Maharaja series of 121 paintings 

were painted on 'Dhola Marvani' 

ballad ? 

1) Man Singh 

2) Bijay Singh 

3) Jaswant Singh 

4) Kishan Singh 
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115. fdlds lkfUu/; esa dyky y{ek xkSM+ us 
E;wjy fp=.k dh f'k{kk yh \ 
1) fooku lqUnje 
2) vflr dqekj gkYnkj 
3) fcuksn fcgkjh eq[kthZ 
4) ds0 th0 lqcze.;u 

  

115. Under whom did Kalal Laxma 

Gaud learnt the Mural Art ? 

1) Vivan Sundaram 

2) Asit Kumar Haldar 

3) Benode Behari Mukherjee 

4) K. G. Subramanyan 

116. dykdkj tks caxky Ldwy ls lacaf/kr ughaughaughaugha  
gS % 
1) vflr dqekj gkYnkj 
2) ,Q0 ,u0 lwt+k 
3) vcuhUnzukFk VSxksj 
4) f{kfrUnzukFk etwenkj 

  
116. Artist not related to Bengal   

School is : 

1) Asit Kumar Haldar 

2) F. N. Suza 

3) Abanindranath Tagore 

4) Kshitindranath Majumdar 

117. dkSu&lh lfp= izfr ckcj vius lkFk 
Hkkjr yk;k \ 
1) ikn'kkgukek 
2) 'kkgukek 
3) njkcukek 
4) vkbZu&,&vdcjh 

  

117. Which painted copy Babur had 

brought to India ? 

1) Padshahnama 

2) Shahnama 

3) Darabnama 

4) Ain-i-Akbari 

118. ;g oLrq ds /kjkry dk xq.k gS % 
1) izkÑfrd iksr 
2) iksr 

3) vuqÑr iksr 
4) l`ftr iksr 

  

118. It is the character of the surface : 

1) Natural Texture 

2) Texture 

3) Copied Texture 

4) Created Texture 

119. 1876 esa Hkjgqr dh [kqnkbZ djok ds blds 
vo'ks"k dgk¡ fHktok;s x;s \ 
1) jk"Vªh; laxzgky;] ubZ fnYyh 
2) dksydkrk laxzgky;] dksydkrk 
3) iVuk laxzgky;] iVuk 
4) fizUl vkWQ osYl laxzgky;] eqEcbZ 

  

119. In 1876, after the excavation, the 

remains of Bharhut were sent to : 

1) National Museum, New Delhi 

2) Kolkata Museum, Kolkata 

3) Patna Museum, Patna 

4) Prince of Wales Museum, 

Mumbai 
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120. ml lH;rk dk uke crk;sa tks viuh idkbZ 
feêh dh bZaVksa ds edkuksa rFkk ty vkiwfrZ 
O;oLFkk ds fy;s izpfyr jgh % 
1) oSfnd lH;rk 
2) flU/kq ?kkVh lH;rk 
3) ekS;Z lH;rk 
4) tuin dkyhu lH;rk 

  
120. Name the civilization which was 

popular for its baked brick houses 

and water supply system ? 

1) Vedic Civilization 

2) Indus Valley Civilization 

3) Mauryan Civilization 

4) Janpad Period Civilization 

121. ^^la;kstu ds fl)kUr** dk lghlghlghlgh Øe   
pqfu, % 
1) lg;ksx] lkeatL;] lUrqyu] izHkkfork] 

izokg] izek.k 
2) lUrqyu] lg;ksx] lkeatL;] izokg] 

izHkkfork] izek.k 
3) izek.k] lkeatL;] izokg] lg;ksx] 

lUrqyu] izHkkfork 
4) izokg] izek.k] lUrqyu] lg;ksx] 

izHkkfork] lkeatL; 

  

121. Select the correct order of 

"Principles of Composition" : 

1) Unity, Harmony, Balance, 

Emphasis, Rhythm, Proportion 

2) Balance, Unity, Harmony, 

Rhythm, Emphasis, Proportion 

3) Proportion, Harmony, Rhythm, 

Unity, Balance, Emphasis 

4) Rhythm, Proportion, Balance, 

Unity, Emphasis, Harmony 

122. fuEufyf[kr esa ls fdldks ^^ine~ foHkw"k.k** 
(1974) vkSj ^^nsf'kdks=e** (1977) 
iqjLdkj feyk \ 
1) ds0 ds0 gSCcj 
2) ,e0 ,Q0 gqlSu 

3) T;ksfr Hkê 
4) fcuksn fcgkjh eq[kthZ 

  

122. Who among the following got 

"Padma Vibhushan" (1974) and 

"Desikotram" (1977) award ? 

1) K. K. Hebbar 

2) M. F. Hussain 

3) Jyoti Bhatt 

4) Benode Behari Mukherjee 

123. ;kfeuh jk; dh dyk ls lacaf/kr vkdkj 
gS % 
1) vewrZ vkdkj 
2) f=vk;keh vkdkj 
3) yksd dyk izsfjr vkdkj 
4) 'kkL=lEer vkdkj 

  

123. The form that belong to the art of 

Yamini Roy is : 

1) Abstract form 

2) Three dimensional form 

3) Folk art influenced form 

4) Classical form 



[ 26 / A ] 

[ Level-2 / 1208 ]   

124. 1952 esa ^^bafM;u isafVax bu fn iatkc 
fgYl** vkSj ^^dkaxM+k isafVax** izdkf'kr   
dh % 
1) MkW0 ,e0 ,l0 jU/kkok us 
2) MCY;w0 th0 vkpZj us 
3) ts0 lh0 Ýsap us 
4) vks0 lh0 xkaxqyh us 

  
124. In 1952 "Indian Painting in the 

Punjab Hills" and "Kangra 

Painting" were published by : 

1) Dr. M. S. Randhawa 

2) W. G. Archer 

3) J. C. French 

4) O. C. Gangoly 

125. fuEu fp= 'kSfy;ksa dks dkyØekuqlkj 
O;ofLFkr djsa % 
1) vtUrk] tSu] dkaxM+k] eqxy 
2) dkaxM+k] tSu] eqxy] vtUrk 
3) vtUrk] tSu] eqxy] dkaxM+k 
4) eqxy] vtUrk] tSu] dkaxM+k 

  
125. Arrange the following painting 

styles period wise : 

1) Ajanta, Jain, Kangra, Mughal 

2) Kangra, Jain, Mughal, Ajanta 

3) Ajanta, Jain, Mughal, Kangra 

4) Mughal, Ajanta, Jain, Kangra 

126. dkSu&lk Lrwi xq.Vwj ftys esa Ñ".kk unh ds 
ck;sa rV ij fLFkr gS \ 
 
1) lkjukFk Lrwi 
2) ukxktqZudks.M Lrwi 
3) usydks.MiYyh Lrwi 
4) vejkorh Lrwi 

  
126. Which stupa is situated in the 

Guntur district and on the left 

shore of Krishna river ? 

1) Sarnath stupa 

2) Nagarjunakonda stupa 

3) Nelakondapally stupa 

4) Amaravati stupa 

127. ^^rwrhukek** esa fdrus fp= gSa \ 
 
1) 98 fp= 
2) 103 fp= 

3) 152 fp= 
4) 200 fp= 

  
127. How many paintings are there in 

"Tutinama" ? 

1) 98 paintings 

2) 103 paintings 

3) 152 paintings 

4) 200 paintings 

128. vtUrk esa dkSu&lh xqQk;sa ^^ghu;ku ckS)** 
/keZ ls lacaf/kr gSa \ 
1) xqQk la[;k & 8 ls 16 
2) xqQk la[;k & 8 ls 13 

3) xqQk la[;k & 6 ls 7 
4) xqQk la[;k & 1 ls 5 

  
128. In Ajanta which caves are related 

to "Hinyana Bodh" religion ? 

1) Cave No. - 8 to 16 

2) Cave No. - 8 to 13 

3) Cave No. - 6 to 7 

4) Cave No. - 1 to 5 
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129. e/; izns'k vkSj NÙkhlx<+ fdl yksd fp=.k 
'kSyh ds fy;s izfl) gSa \ 
 
1) xks.M fp=.k 
2) fiFkksjk fp=.k 
3) dyedkjh 
4) iV fp= 

  
129. Madhya Pradesh and Chhattisgarh 

are famous for which Folk painting 

style ? 

1) Gonde Painting 

2) Pithora Painting 

3) Kalamkari 

4) Pata Chitras 

130. 1909 esa] fdlus ^^bf.M;u Øk¶V~leSu** 
iqLrd fy[kh \ 
1) MkW0 eksrh pUnz 
2) vkuUn dqekjLokeh 
3) ,l0 ,p0 jt+k 
4) eqYd jkt vkuUn 

  
130. In 1909, who wrote the book 

"Indian Craftsman" ? 

1) Dr. Moti Chandra 

2) Anand Coomaraswami 

3) S. H. Raza 

4) Mulk Raj Anand 

131. 1558 ls 1572 rd vdcj us dgk¡ 
fp='kkyk LFkkfir dh \ 
1) vkxjk 
2) Qrsgiqj lhdjh 
3) ykgkSj 
4) fnYyh 

  

131. From 1558 to 1572 Akbar had 

established Chitrashala in : 

1) Agra 

2) Fatehpur Sikri 

3) Lahore 

4) Delhi 

132. fp= esa eksVs vkSj Hkkjh jaxksa ds iz;ksx dks 
dgrs gSa % 
1) rSy jax 
2) bEisLVks 
3) eksVk jax 
4) ,Øsfyd jax 

  
132. Use of thick and heavy colours in 

painting is known as : 

1) Oil colour 

2) Impasto 

3) Thick colour 

4) Acrylic painting 

133. dkSu&lk eafnj nsox<+ dk loksZRÑ"V Lekjd 
gS \ 
1) n'kkorkj eafnj 
2) x.ks'k eafnj 
3) f'ko eafnj 
4) y{e.k eafnj 

  
133. Which Temple of Deogarh is an 

unbeatable monument ? 

1) Dashavatara Temple 

2) Ganesh Temple 

3) Shiva Temple 

4) Laxman Temple 
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134. ,d fdrkc] ,d bZaV rFkk ,d pkSdksj fMCck 
lacaf/kr gS % 
1) csyukdkj vkdkj 
2) ?kukHk vkdkj@?kukdkj 
3) vaMkdkj vkdkj 
4) xksykdkj vkdkj 

  134. A book, a brick and a square 

carton belongs to : 

1) Cylindrical shape 

2) Cuboidal shape 

3) Oval shape 

4) Spherical shape 

135. flfxfj;k xqQk dk th.kksZ)kj rFkk lqj{kk dh 
O;oLFkk fdlds }kjk gqbZ \ 
1) ,p0 lh0 ikWosy 
2) fxfjjkt fd'kksj vxzoky 

3) ch0 ,u0 vkIVs 
4) uUn yky cksl 

  135. By whom Sigiriya caves were 

restored and secured ? 

1) H. C. Pavel 

2) Giriraj Kishore Agarwal 

3) B. N. Apte 

4) Nand Lal Bose 

136. iRFkj] dkap Vkby vkfn ds jaxhu VqdM+ksa dks 
tekdj cuk;k fp= dgykrk gS % 
 
1) nhokj fp= 2) ekstsd 

3) E;wjy 4) ÝsLdks 

  
136. Painting made by fixing small 

pieces of stones, glass tile etc. is 

known as : 

1) Wall painting 2) Mosaic 

3) Mural   4) Fresco 

137. lhdj ds g"kZukFk eafnj esa ^Jhg"kZ* uke ls 
fdl nsork dh iwtk dh tkrh gS \ 
 
1) jke 2) Ñ".k 
3) fo".kq 4) f'kok 

  
137. Which God is worshipped by the 

name 'Shri Harsha' in the 

Harshnath temple of Sikar ? 

1) Ram 2) Krishna 

3) Vishnu 4) Shiva 

138. ds0 ds0 gSCcj dk iwjk uke gS % 
1) dfêaxsjh Ñ".k gSCcj 
2) dfêaxsjh dqekj gSCcj 
3) Ñ".k dfêaxsjh gSCcj 
4) Ñ".k Ñ".k gSCcj 

  
138. Full name of K. K. Hebbar : 

1) Kattingeri Krishna Hebbar 

2) Kattingeri Kumar Hebbar 

3) Krishna Kattingeri Hebbar 

4) Krishna Krishna Hebbar 

139. ^^u`R;jr eqnzk esa eathjk okfndk** ewfrZf'kYi 
gS % 
1) dSyk'k eafnj] ,syksjk 
2) lw;Z eafnj] dks.kkdZ 
3) foey'kkgh eafnj] ekmaV vkcw 
4) j.kdiqj eafnj] mn;iqj 

  
139. "Cymbal Player in dancing pose" 

is a sculpture of : 

1) Kailash Temple, Ellora 

2) Sun Temple, Konark 

3) Vimalshahi Temple, Mount Abu 

4) Ranakpur Temple, Udaipur 
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140. ^^pk¡n chch iksyks [ksyrs gq,** lacaf/kr gS % 
 
1) chtkiqj 
2) xksydq.Mk 
3) vgenuxj 
4) chdkusj 

  
140. "Chand Bibi playing Polo" is 

related to : 

1) Bijapur 

2) Golconda 

3) Ahmadnagar 

4) Bikaner 

141. fd'kux<+ 'kSyh dks izdk'k esa ykus dk   
Js; tkrk gS % 
1) MkW0 QS;kt+ vyh vkSj ,fjd fMfdUlu 

dks 
2) MkW0 eksrh pUnz vkSj MkW0 izeksn pUnz 

dks 
3) fd'kuflag vkSj :iflag dks 
4) lkoUrflag vkSsj jktflag dks 

  
141. Credit for bringing Kishangarh 

style to light goes to : 

1) Dr. Faiyaz Ali and Eric 

Dickinson 

2) Dr. Moti Chandra and Dr. 

Pramod Chandra 

3) Kishansingh and Roopsingh 

4) Sawantsingh and Rajsingh 

142. ve`rk 'ksjfxy dk dkSu&lk fp= buesa ls 
ughaughaughaugha gS \ 
1) Hkkjr ekrk 
2) fgy owesu 

3) rhu cgusa 
4) czkbM~l VkW;ysV@o/kq dk Üka`xkj 

  
142. Which painting of Amrita Shergill 

is not given here ? 

1) Bharat Mata 

2) Hill Women 

3) Three Sisters 

4) Bride's Toilet 

143. flÙkuokly dh xqQkvksa dks loZizFke ns[kk 
Fkk % 
1) lh0 f'kojkeewfrZ 
2) Vh0 ,l0 xksihukFk 
3) ,p0 lh0 ikosy 
4) bZ0 ch0 gSosy 

  
143. Sittanavasal caves were first seen 

by : 

1) C. Shivarammurti 

2) T. S. Gopinath 

3) H. C. Pavel 

4) E. B. Havell 

144. chdkusj jkT; dh LFkkiuk dc vkSj fdlds 
}kjk gqbZ \ 
1) 1488 esa jko chdkth }kjk 
2) 1400 esa jko djuflag th }kjk 
3) 1450 esa jko lwjtflag th }kjk 
4) 1460 esa jko tks/kk }kjk 

  
144. When and by whom Bikaner state 

was founded ? 

1) In 1488 by Rao Bikaji 

2) In 1400 by Rao Karan Singh ji 

3) In 1450 by Rao Suraj Singh ji 

4) In 1460 by Rao Jodha 
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145. xouZesUV dkWyst vkWQ vkVZ~l ,.M Øk¶V~l] 
psUubZ@enzkl dh LFkkiuk gqbZ] o"kZ % 
 
1) 1850 esa 2) 1854 esa 
3) 1857 esa 4) 1856 esa 

  145. Government College of Arts and 

Crafts, Chennai/Madras was 

established in the year : 

1) 1850 2) 1854 

3) 1857 4) 1856 

146. dkelw= ij fdlus Vhdk fy[kh] ftls 
t;eaxyk uke ls tkuk tkrk gS \ 
 
1) ;'kks/kjk iafMr 
2) Hkjreqfu 

3) okRL;k;u 
4) lksenso 

  146. Who wrote the commentary on 

Kamasutra which is known as 

Jaimangla ? 

1) Yashodhara Pandit 

2) Bharatmuni 

3) Vatsyayana 

4) Somdeva 

147. dksydkrk lewg – 43 dh LFkkiuk fdlus   
dh \ 
1) iznkss"k nkl xqIrk 
2) t;k vIikLokeh 
3) ,Q0 ,u0 lwt+k 
4) lrh'k xqtjky 

  147. Who established the Kolkata 

Group – 43 ? 

1) Pradosh Das Gupta 

2) Jaya Appaswami 

3) F. N. Suza 

4) Satish Gujral 

148. enqjS eafnj fdl 'kSyh esa fufeZr gS \ 
 
1) nzfoM+ 'kSyh 2) ukxj 'kSyh 
3) cslj 'kSyh 4) fgUnw 'kSyh 

  148. Madurai Temple is made in which 

style ? 

1) Dravid style 2) Nagar style 

3) Besar style 4) Hindu style 

149. 1405 bZ0] esa xqysj jkT; dh LFkkiuk dh % 
 
1) jktk gfjpan us 
2) jktk mEesn flag us 
3) jktk lalkj pan us 
4) jktk txr flag uss 

  149. In 1405, Guler state was 

established by : 

1) Raja Harichand 

2) Raja Ummed Singh 

3) Raja Sansar Chand 

4) Raja Jagat Singh 

150. rkez /kkrq esa fufeZr ^^f'kok uVjkt** 
lacaf/kr gS % 
1) pksy oa'k ls 
2) iYyo oa'k ls 
3) gks;ly oa'k ls 
4) uk;d oa'k ls 

  150. "Shiva Nataraja" in Bronze belongs 

to : 

1) Chola Dynasty 

2) Pallava Dynasty 

3) Hoysala Dynasty 

4) Nayak Dynasty 
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6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy IokbaV iSu ls 
iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys [kkus dks 
fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr ekuk 
tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given by 

darkening complete circle using Black ball point pen as shown 

below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given below : 

�    �    �    � 

If you fill more than one circle it will be treated as a wrong 

answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA / Rough work should be done only in the space provided in the 

Question Booklet for the same. 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA / 
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not 

allowed for changing answers. 

9. izR;sd iz'u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d o`Ùk dks gh iwjh rjg dkys ckWy IokbaV iSu ls HkjsaA 
,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA / Out of the four alternatives for each question, only one circle for the most 

appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is 

not allowed to be changed. 

10. vH;FkhZ lqfuf'pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu'kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d esa fu/kkZfjr LFkku 
ds vfrfjDr vU;= u fy[ksaA / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the 

Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet. 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa [iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr dks 
NksM+dj] nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA / Handle the Question Booklet and Answer Sheet with care, as under no 

circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not 

be provided.] 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA / The candidates should write the correct Number as 

given in the Question Booklet/Answer Sheet in the Signature Chart. 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos'k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh ifpZ;k¡] istj] eksckby 
Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA / Candidates are not allowed to carry any 

textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit 

Card and Identity Card inside the examination hall/room. 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos'k dkMZ [jksy ua0] vkSj igpku i= fn[kk,¡A / Each candidate must show on demand his/her 

Admit Card [Roll No.] and identity card to the Invigilator. 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo'ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA / No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn fdlh vH;FkhZ us 
nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g vuqfpr lk/ku dk ekeyk ekuk tk,xkA 
OMR    mÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFk    ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk 
/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA / The candidates should not 
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart 

twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the 

Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR 

answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in 

nature. 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA / Use of Electronic/Manual Calculator is prohibited. 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn'kk&funsZ'k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA vuqfpr lk/kuksa ds 
lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA / The candidates are governed by Guidelines/Procedure given in the 

Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair 

means will be dealt with as per Rules and Regulations of the Board. 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall be detached 

under any circumstances. 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo'; lkSai nsaA vH;FkhZ vius lkFk bl iz'u&iqfLrdk dks ys tk ldrs 
gSaA / On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates 

are allowed to take away this Question Booklet with them. 

� � 
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